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There are 150 objective type multiple choice questions in this Question Booklet, The questions are made of the following
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The candidate has to attempt all sections, Each question is of one mark. There is no negative marking for wrong
answer. The candidate has to hand over the OMR Answer Sheet and the Question Booklet to the invigilator and
he/she will take back his/her portion of Admit Card from the invigilator while leaving the examination hall,
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Section -1
Child Development & Pedagogy
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There are 30 questions in all in this Section. All questions are compulsory.
Frw i oNE e AT T4 1. Effective way to know about a
student is
A) A
& (A) evaluation
B) ¥l
® (B) play
(©) R o M (C) visit his home
(D) ST (D) observation.
GG R T AP FA A A 5. What will you do if a student is
e AE1 I PR ? repeatedly teased . by  another
classmate ?
(A) IR MY T
(A) Punishment of the classmate
(B) et AT 8 IRV Tk
(B) Separate sitting arrangement
‘91151@5 o[ PR
il (C) Counselling of the classmate
(D) ISR (O ST | (D) Call the guardian.
P oI CICEIRRe ATRUE 3 How can teacher identify brilliant
5o +q@A ? students ?
(A) O NP T 0 (A) O-n their examination result
(B) Observing their classroom
B) uferer® OIe SbaT (M behaviour
() s oy fc (C) Getting family history
(D) mﬁﬁ S A fofecs | (D) Based on the relationship with
other students.
aferpes  *ueTl TR Sraeey PR 4. What is the best way for a teacher to

() etur fepwasce wifert 4l

(D) I MY eI |

maintain discipline in the classroom ? .
(A)
(B)

To assign group tasks
To lecture about the need of
discipline

(C) To- lodge complaint with the

headmaster

(D) To impose strict punishment.
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(A) wmIfaey

(B) wHI ofere =7
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9. MeotR e IfEtass v 3 e

[ 2
(A) By IRMsifor e
(B) Y sifaeeq e
(C) TC STH T

(D) AN M@ NG |
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Cause of failure of students is
(A) lack of memorization power
(B) not to strive for assimilation
(C) absence of frequent tests
(D) not to follow the teacher.

Who is known as the father of child

centric education ?
(A) Dewey

(B) Froebel

(C) Montessori

(D) Rousseau.

Who conducted the factor analysis of

intelligence first of al] ?
(A) Thurstone

(B) Gardner

(C) Carroll

(D) Spearman.

Reading of literature is essential for

children because the child
(A) acquires knowledge

(B) develops imagination
(C) acquires difficult words
(D) builds character.

Individual differences occur among

children due to
(A) heredity only

(B) environment only

- (C) growth

(D) combination of first two.
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10.

11.

12.

13.

14.

What may be the probable cause of
mistake in writing the same spelling
repeatedly ?

(A) Learning disability

(B) Low vision

(C) Tendency to commit mistake
(D) Low intelligence.

As a result of cooperative learning
among the learners

(A) learners become self-reliant
(B) all learners learn equally
(C) learners’ motivation declines

(D) they do not feel the needs for
teachers.

Which one is correct ?

The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment .

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be
anxious. -

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.
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According to Vygotsky

(A) culture is the outcome of
education

(B) culture is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor

of learning.

Modern education systetn is

(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A)  Specific knowledge

(B) Judgement

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A)
(B)
(€)

Infancy

Late childhood
Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A)
(B)
(€
(D)
Concept formation depends on
(A)
(B)
(C)
(D)

language
isolation
observation

independence.

learning
transfer
vision

imagination.
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22.

23.

24.

Dk,

What is the duty of teacher in

generating motivation among the

learners ?

(A) To advise the learners from time
to time

(B) To rebuke
mistakes

(C) To accept the level of success as
one can attain :

(D) To maintain very high standard.

How can the interest of the learners

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners

(B) control anger of the learners

(C) keep the Ilearners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal’
Punishment

(D) Custody of the Special Need
Children.

What is the meaning of

comprehensive evaluation ?

occasionally  for

(A) Evaluation of the whole
curriculum

(B) Evaluation of all-round

~ development

(C) Evaluation of the whole
intellectual ability

(D) Evaluation of all students
simultaneously.
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Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning:

Which one of the following is not
related to creativity ?

(A) - To think quickly

(B) To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student's learning readiness ?

(A) Spontaneous interest

(B) Correct answer to the teacher's
question

(C) Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the
students have committed error in
answering a question. What may be
the probable cause ? :

They did not pay attention in the

(A)

~ classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it

was important.
Sometimes the first generation
learners may be inattentive in the
class, because

(A) there is none to help at home

(B) has to perform many household
work

(C) there is lack of effort in studies

(D) difficulty in understanding the

teacher's language.
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SECTION - II
Language - English

There are 30 questions in all in this Section.

All questions are compulsory.
Part - A
Direction : Read the following poem and answer the questions (31/ 61 — 37/67) that follow :
Futility

Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
__ Or what made fatuous sunbeams toil

To break earth's sleep at all ?

31/61. " what made fatuous sunbeams toil ..." is an example of
(A) synecdoche (B) periphrasis
(C) personification (D) simile.
32/62. The general tone of the poem can be described as
- (A) sad and tragic (B) full of mirth
{Cj satirical (D) humorous.
33/63. The meaning of the line "Woke, once, the clays of a cold star” is

(A) broke the cold star into pieces”
(B) brought life into the cold planet now called earth
(C) made the clays of the planet

(D) made a cold star warm.

577432 ' [ P.T.O.
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34/64. If anything is capable of awakening "him" it is
(A)  the warmth of the sun (B)  the sun alone knows
(C) the cfaylight (D)  the morning snow.
35/65. The poet "urges to move him into the sun " because
(A) it is warm . L0 o TS woke him once earlier
(C) it is day-time (D) it will ease his pain. '
36/66. The sun "always" woke him in
(A)  England (B) India
(C) Italy (D) France.
37/67. "Was it for this the day grew tall" — is an example of
(A)  metaphor (B) metonymy
(C) chiasmus (D)  alliteration.

Directions :  Read the following passage and answer the questions ( 38/68 — 45/75 ) that

follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve

Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books.

influential. He was a Canadian Journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from Iowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt

577432



i

had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children's collection.
Ironically this decision actually triggered the sales of the books. '

Regardless of the controversies about their literary merit, each series of books has

exerted an undeniable influence on American and even global culture.

38/68.

39/69.

40/70.

41/71.

42/72.

577432

Some teachers and librarians objected to the ghost writing series because they

(A) disapproved of mystery stories

.

(B) thought that the books were too expensive
(C) believed that the books were not quality literature

(D) disliked the business practice behind the series.

Which of the following describes the author's attitude towards the series ?
(A) Balanced and respectful (B) Doubtful and critical

(C) Hostile but forgiving (D) . Overwhelmingly appreciative.
A ghost writer is someone who ‘

(A) writes‘about ghosts and strange events

(B) does not receive credit as an author

(C) invokes spirits and supernatural elements to write

(D) takes lot of money for writing.

What does the word 'surmised' mean ?

(A) Guessed (B) Qﬁestioned \d
(C) Knew (D) Surprised.

The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular

(B) children enjoy reading about characters they can relate to

(C) girls and boys are not interested in the same thing

(D) the writer needed money.

6001 ' | P.1O.
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According to the passage the Nancy Drew mystery series was introduced in

“(A) + 1927 ; (B) 1925

(€C) 1929 : (D) 1‘930.
Which would be the appropriate title of the passage ?
(A)  Ghost Writing : A Way of Life
(B) The Dubious Yet Profitable Practice of Ghost Writing
(C)  The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing.
Who was the real writer of the series according to the passage ?
(A) Carolene Keene _ (B) Franklin W. Dixon
(C) Leslie McFarlane (D) Hardy.
Part - B
Answer the following questions by selecting one option :
Effective Iezirnmg takes place when the students are
(A) quiet ' (B) obedient
(C) interactive (D) preparing for examinations.
A teacher can best develop communicative skills with the students by
(A)  encouraging to speak in that language continuously
(B) giving dictation
(C)  correcting grammar and spellings
(D) . giving students homeworks in that language.
While communicating ideas in written form grammar has
(A) akeyrole (B) no role
(C) liberal role (D) none of these.
Key principle of language teaching is
(A)  to motivate the students in the process of learning
(B)  to facilitate the learner-centered classroom activities
(C)  to maintain discipline in the class

(D) to show the teacher's mastery over language.
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In a language-teaching class the primary skill(s) to be developed in children is/

are
(A) Listening (B) Speaking
(C) Listening and Speaking (D) Writing.

A multi-lingual classroom is

(A) students with different mother tongues

(B) students coming from different regions

(C) students with different cultures

(D) students with different social baékgrounds.

How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the
course '

(B) By evaluating all the four skills at the end of the course
(C) By evaluating only reading and writing

(D) ~ By evaluating only speaking and listening.

What is the main challenge of teaching language in a diverse classroom ?
(A) Facing slow and weak learners

(B) Facing a mixed-ability group of learners

(C) Facing infrastructural problems

(D) Facing the good students in the class.

While using problem solving method the teacher should

(A). participate actively in the process

(B) encourage divergent thinking

(C) ask the students to consult their parents

(D) look at the students' activities from a distance.

Gender stereotypes can be discouraged by

(A) helping the boys to accept failure

(B) encouraging girls to take up sports

(C) asking girls to arrange for the snacks in a class picnic

(D) encouraging girls to take up challenging jobs in life.

[ P.T.O.
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Abstract intelligence tests

(A)
(B)
(C)

(D)

verbal skills
manual dexterity
numerical ability

manipulation of symbols.

»
Today emphasis should be given to

(A)
(B)
(C)

(D)

electronic gadgets used for teaching-learning process
chalk-and-talk method of teaching-learning process
iearning through foreign collaboration

value based teaching-learning process.

‘Overlearning' is the term used to describe

(A)

(B)

(C)

(D)

practice that continues after a perfect recall has been achieved

the practice of learning over and beyond the requirement of a particular

class / age
the practice of spending too much time on studies

the practice of overburdening the students with tasks.

Tasks to improve spelling should not include

(A)

(&)

reading (B) listening

writing _ (D) use of dictionary.

Giving dictation is not useful for

(A)
(B)
(C)

(D)

learning the correct form of the language
developing language skills
developing short term memory

helping students to spell correctly.
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faetat - 111(a)
sfte @ faeiw
Section - III(a)
Mathematics & Science
a2 e (6 60 B oM @itz | @ A9 @3 @b vun SEEA O e A el e 3@ |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

91. (O 9O ¥ x 9894 2@ 5 929 91. If your present age is x, then the

o2 J ratio of your ages 5 years before and
NS S TIROIE TG AT S years after the present is

(A) (5-x):(5+x) (A) (5-x):(5+ x)
B) (x-5):(x+3) (B) (x-5):(x+5)
Gl 10 Sk v (C) (10+x): x
D) (x+5):(x-5). |

(D) (x+95):(x-5).

92. (2x+1)? =4x2 + 4x +1. @b @3
92. (2x+1)? =4x2 +4x+1. This is an

(A) TI=FF
(A) equation
(e TR (B) identity
(C) I (C) inequation
(D). @GS 77| (D) none of these.
o5, Farmpm @ Wy epe 19 20, °% 1110t of e e and purchae
ol Hoq ZA T loss is
(A) 10% (A) 10%
(B) 7-5% (B) 7-5%
(C) 5% €} 5%
(D) 2-5%. (D) 2:5%.
94. @3 MAE 20% @ w1 MM 94. If a number is increased by 20%, it
7 90 | HMH @ 2 becomes 90. The number is
(A) 60 il ko
(B) 70 (B) 70
(C) 75 ke 175
(D) 80. (D) 80.
95. (p+q)=8 QN (p-q)=6E pg-9q 95. If (p+q)=8 and (p-q)=6, then the
N 25 value of pg will be
A) 7 A 7
(B) 14 ; B) 14
C) 21 (€) 121
(D) 28. (D) 28.

577432 : [6001 | [ P.T.O.




96. 0.63 -a9 SN 25
' 68
(A) 160
100
(B) .5
=
(€) i
11
D Fati
(D) 5
97. A8 B-@3 I{CW 9% 10 I%F, B¢ C-&3
IIEIF TG 15 929 @92 A @ C-A9 IOE
TG 20 AT A, B8 C-a9 IWOR 1Y
P9 ? .
(A) 12'5q%F
(B) 17'53%4
(C) 1533
(D) 20 A
98. 1296-49 P 27
(A) 24
(B) 26
(C) .36
(D) 44.
99. 68, 32, 27, x @A 82-99 T 5 T
x93 V9 @
A 4.
(B) 51
(© 41
(D) 39 _
100. 3 b @fizs #jefdieams 51y s4wg
(A) o0
(B) =¥
(C) THNEI (T (W @b
(D) @HHS qY|
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96.

9.

98.

99.

100.

The_ fraction of 0-63 is

63
)
100
100
(B) 63
7
c & e
(C) 71
11
D) —.
(D) 5
The average .age of A and B is

10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A) " 12:5 years

(Bj 17-5 years

(C) 15 years

(D) 20 years.

The square root of 1296 is
(A) 24

(B) 26

(C) 36

(D) 44.

The average of 68, 3:2, 27, x and
8:2 is 5. So the value of xis

(a) 4
B3 51
C) 41
(D) 39

The average of three consecutive
whole numbers is always .

(A) even

(B) odd

(C) any of these
(D) none of these.



101.

102.

103.

a3 oS b SN o AT
90° (@I FNRIfB® FAET G’ oG
9l 2

(A) <sfesa
(B) s
(C) =%
(D) Gifeiferams |

@3 AN Ry Al TWPIER TH
165° R, IRGETOI AT 27T

(A) 12

(B) 24

€ 6

(D) 8.

Tfeae  fager AABC-@1 AE (@

LA =70° 36 AN @ PSS e 2

104.

105.

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC< BC.

aeh e onfr foee, @b
SRR W 25° FCE, FoTIEE A

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

ABc fagwem AB3 wafdy D, @e
DE||BC. BC = 7 cm 2¢1 DE-G8 YN

i
A

D, E
B ¢
(A) 14 cm
(B) 7cm
{C) | 35'em
(D) 14 cm.
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101.

102.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

(AY 90
(B) 24
L )16
(D) 8.

103.

104.

105.

The vertical angle ZA of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC < BC.

An acute angle of an obtuse angled
isosceles triangle is 25°. So the value
of obtuse angle is

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

In AABC, D is the mid-point of AB,
DE| | BC. If BC = 7 cm, then the value

of DE is
A

14 cm
7 cm
35 cm
1'4 cm.

(A)
(B)
(©)
(D)

[P.T.O.



106.

107.

108.

109.

110.

1L

4,7, 12-93 59 AN Ze

(A) 28
(B) 21

(C) 14

(D) 35.

50-99 x % = x99 y % TE y-a7 A
Eul

(A) 25

(B) 50

(C) 75

(D) 100.

3x? - 2yz + 5z @8 NANEAR BTN
&

A 4

(B) 3

(C) o

(D) 5.

55 kg e 25 kg w31 @ SERFEI Ol
YPET O 8 TR TS S ?

(A) 11:5

(B) 5:6

(C) 6:5

(D) 5:11.

@36 (@Y INE A-93 FKA B-Eq
T faed | A-9 @G 428 Tl
31, B-AF QI @

(A) 214 B

(B) 556 GBIl

(C) 107 Gl

(D) 856 GBI |

@6 AwgreE bGP 2o 73°, 97°,
146° @38 138° | #/BY (I N

(A) 113°
(B) 104°
(C) 86°

' (D) 83°.
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106.

107.

108.

109.

110.

11 1.

6001

The fourth proportionate of 4, 7 and
12 is

(A) 28

(B) 21

(o Sh L

(D) 35.

If x % of 50 = y % of x, the value of
y will be

(A) 25

(B) 50

(€) 75

(D) 100.

The number of variables in the
expression 3x" = 2yz + 522 is

A) 4

(B) 3

(C) 6

(D) 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

(A) 11:5

B) 5:6

(C) 6:5

(D) 5:11.

The principal amount of A is twice of

B in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs.214
(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

Four angles of a pentagon are 73°,
97°, 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
(D) 83,



112.

113.

JANaf4s ABCD € ABEF-@3 ($@we]
g M @48 OIMd el YUYW
h'€ p 21

(A)
(B)

h>p
h<p
(C) h=p
(D) IS w3 |

ewe f5ta AB||CD ¥, /BGE-49 W

Eul
F
u/
s D
X
90° + x(y i
A
/ G
E
(A) 45°
(B) 120°
(C) 135°
(D) 270°.

114, A @ @esfern sz g fage
o 41 A 2
(A) . 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

115. @6 7e7d AN 32 @19 F@ 5 @ @9
@ (@ AN Seq I ©f Jo o
(A 16 I 21, WA 24
(A) 83
(B) -44,

(C) =83
|) "12.

116. (x + 3)(x - 3)-9 x-49 AR 9 ?
(A) 1
B 2
(C) O
(D) =1:
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112,

113.

114,

115,

116.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p
(B) h<p
(C) h=p
(D) none of these.

In the figure below, AB| | CD, then the
value of ZBGE is

(A) 45°

B) 120°
(C) 135°
(D) 270°.

With which of the following angles, a
triangle can be formed ?

(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) - 44
(C) ‘<83
(D) 12.

The coefficient of x in the expression
(x+3)(x-3) is

@A) 1
B) 2.
(C) ©
(D) -1.

[ P.T.O.



x2 - 8x + 15 Afba TesymapalF 26

7
(A)  (x—35)(x+3)
(B) (x-8)(x+7)
(©) (x-5)x-3)
(D) (x-8)(x-7).
118. a’b3, a®b?, a*p®-97 @Me, 32q*
ZE b-a9 W 5
(A) 32
(B) 24
(C) 6
(D) 2. |
119.96 affm @ o3 +p3;  qfmita
TALB. (a+ b) RET A1, }@
(&) (a®+b?)
(B) (a? -ab+b?)
(C) (a? +2ab+b?)
(D) (a? +ab+b?).
120. 199-9% 9 25
(A) 7880599
(B) 9703011
(C) 7680951
(D) 6879091.
121. FRefafeefem @mt crames s a3 2
(A) e
(B) FAHIEM
) 3
(D) FARC|
122, CRIEEA W (o eI 2 2o
A) TC=bewem '
(B) FREICETN
(C) CCACETN
(D) CERICAICSN |
577432
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117

118.

119.

120.

i

122,

The factors of x? — 8x + 15 is
(A)  (x-5)(x+3)

B) (x-8)(x+7)

(€)  (x-5)(x-3)

(D)  (x-8)(x-7).

If the L.C.M. of a’b®, a3b?, a*b® is
32q* , the value of b will be

(A) 32

(B) 24

(C) 6

(D) 2.

The product of two terms is ad + b3
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A) (a? +b?)

(B) (a?-ab+b?)
(C) (a? +2ab +b?)
(D) (a2 +ab+b?).
The cube of 199 is
(A) 7880599

(B) 9703011

(C) * 7680951

(D) 6879091.

Which of the following is not a
component of phloem ?

(A)
(B)
(C)

Sieve tube
Companion cell
Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

(A)
(B)
(€)
(D)

Dictyosome
Ribosome
Mesosome

Chromosome.
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123. RS @R wEiqre SEe aREe 123.
FREAY ANE ?
(A) ST SIS Sriferes!
(B) sfeifer afs
(C) eNREIICSTN
(D) ©Ipee |
124. (7 €999 21t SR P (Al [N 124.
© %
() R
(B) Tweba
(C) o
(D} Sl 125.
125. (3 e Nioa ionfarn @l 9y o &5
A) ~facean
(B) B
(€) feifa
(D) embzefees |
126. (I <1 ‘qife-ge1’ Ty wifefge 2 126.
A)
(B) G
(C) Feeifam
(D) 9TFIRG
127, M SoAmiwefE 5 fF 2 il
(A) I, *BIFRR 26 @ae *HIBwN
HISTFD
(B) I, ETHa @ fqane
(C) TR, EAFIF 8 ABHA
(D) FeTeE, eI FBEE  @4e
SABITTANT ST |
128. A Gl ReiE a7ze g3 B
(A) O FIRESH ;
(B) OFET RIRCTICEH
(C) <Y TIZHIZC
(D) &= fRferamy |
577432 [6001 |

Which of the following organelle has
many ribosomes attached to it ?

(A)
(B)
(C)
(D) Vacuole.

The type of animals
cutaneous respiration is

(A)
(B)
(©)
(D)

The phylum of animals
presence of mesoglea is

(A)
(B)
(©)
(D) platyhelminthes.

Which substance
'bucky-ball' ?

(A)
(B)
(€)
(D)

What are the components of Gun
powder ?

(A)

Rough endoplasmic reticulum
Golgi body

Lysosome

showing

reptiles
amphibians
birds
mammals.

showing

porifera
ctenophora
cnidaria

is known as
Diamond

Gold

Fullerene

Graphite.

Carbon, potassium nitrate and
potassium sulphate

(B)
(€)
(D)

Carbon, sulphur and bismuth
Carbon, sulphur and nitre
Sulphur, sodium nitrate and
potassium sulphate.

The substance used in rocket fuel is

(A) liquid nitrogen

(B) liquid hydrogen
(C) carbon dioxide
(D) ligquid helium.

[ P.T.O.



129.

130.

L3 1

132.

133,

134.

(C)

- 64

saIeE fowm g el 4199 o

(A) TS

(B) TIeHA

(C) e @

(D) GBS (&t B3 |

-7 7 TWIRAe e

(A) P

(B) 4TI

@&

(D) W

fmfResfE W@ @W @ e (2
f&S ?

(A)  CITETRR]

(B) APIREATGIND!

(C) QAN

(D) ST |

fefiResfm @R Feila Qe
% ?
(A)
(B)

Fefg@

iy

) faeeRye aw#a

(D) (|

sfResfr @mibe Sfefre e
i HS 2

(A) 8 W2

(B) Wied W

(C) FRWR

(D) st g | |

sl @M enfa o= ga Bifer 2
A) TR

(B) CFWI

(€) s

(D) SmifsEl |
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129,

130.

131.

132.

133.

134.

The concept of stationary orbit in an
atom was proposed by

(A) Rutherford

(B) Dalton

(C) Neils Bohr

(D) J.J. Thomson.

An example of a solution made of
solid in solid is

(A)
(B)
(€)
(D)

Which one of the following animal
body phyla has segmented body ?

fog
smoke
bronze

air.

(A) Mollusca
(B) Echinodermata
(C) Aschelminthes
(D) Annelida.

Which of the following is not ' a

mammalian character ?

(A) Pinna

(B) Mammary gland

(C) Three chambered heart
(D) * Hairs.

Which one of the following does not
have accessory respiratory organ ?

(A)
(B)
(C)
(D)

Which one of the following animals'
locomotory organ is cilia ?

Anabus sp
Clarius sp
Labeo sp

Heteropneustes sp.

(A) Hydra

(B) Earthworm
(C) Paramoecium
(D) Amoeba.



135,

136.

137.

138.

139.

140.

(©)

et = oy Wil Wi ge

(A) TP

(B S

ST

(D) i |

(A) “NOIE SF A

(B) NIBIA S FIRCT6’

(C) PO W% IR

(D) SIBR WF HAFIEC |

63 @A oo FeifaS) 2

(A) ST I

(B) Q@WIRG

(C) AR (=

(D) =G|

@S ARRE @y ¢ SfbesEma sy
weifaafoe U@ AfaaEice Seom o
(A) eRIRAGR AP

(B) SRR TAYCT FAfo
(C) e I5f3jcrar STsiifioss
(D) SRIRN@E el Ao |

a3fb et (wIEe ofbesere g 3o

(A) 1-08 volt

(B) 15 volt

(C) 1-05 volt

(D) 1-8 volt.

W Twory ot 1T ©fE FISEsT cof
e 9 fore aea @fa I @ 2

(A) YIS biev Jfaa w1t

(B) QAYNSAY B9 B SIS P
(C) TSl T AISAN &y

(D) Twel Ifaq & |
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135,

136.

187,

- (©)

138.

139.

140.

The organ responsible for secretion of
bile is

(A) liver

(B) kidney

(C) pancreas

(D) stomach.

Acharya Prafulla - Chandra Roy is
known as

(A) 'Master of Sulphates'

(B) 'Master of Nitrates'

(C) 'Master of:Nitrites'

(D) 'Master of Sulphides'.

Which one of the following is the non-

conductor of electricity ?

(A) Gas carbon
(B) Ebonite

Human body
(D) Soil.

For a definite resistance and for the
definite time of flow of current, the
heat produced in a conductor is
proportional to

(A) the flow of current

(B) the cube root of the flow of
current

(Cj the square root of the flow of
current

(D) the square of the flow of current.

The emf of a dry cell is

(A) 1:08 volt

(B) 1:5volt

(C) 1-05 volt

(D) 1-8 volt.

Why does an ink-filled fountain pen
leak at a high altitude ?

(A) Atmospheric pressure increases
(B) Atmospheric pressure decreases
(C) Temperature decreases

(D) Height increases.

[ P.T.O.



141, AGERET 5 e 2wfb 2@
faferesfas

(B) celnesfs

© wweTE
(D) CanfSfer |
@S Gy WA T AN 2e
fe e PIRD
@fRCRIIRG
(C) YNAPTIRG
(D) CRATCHITIZE |
Aenes 9o (N LA TN 24

(A)

142.
(A)

(B)

143.
(A)

(B)

144.

EHCGIE,

(C) &I
(D) tsrnﬁwﬁm

(B)
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141.

142.

143.

144.

Substance important for = blood
clotting is

(A) . bilirubin
(B) prothrombin
(C) albumin
(D) * globulin.

The cell responsible for immunity is

(A) lymphocyte
erythrocyte

thrombocyte

(B)
(C)
(D) hepatocyte.

The name of a female reproductive
hormone is

(A) testosterone

(B) progesterone

(C) gastrin
(D) adrenaline.

The
LR Snede o dual chamber of the heart.

pulmonary venous blood enters

right auricle
left auricle
sinus venosus
ventricle.

name of the emergency hormone

thyroxine
estrogen
glucagon

adrenaline.



146. 45 *wicsa Rael 261 18 simieigf® g1
(A) TeuR pES
(B) (brEz el
(C) @b yas @ wofafb wchless siwief
(D) @3l pae 8 W Gfb (HEP owIel |

147 ABEAR  FIGe  (FT NG YT
ofYeraE 31 27

(A) MRS
(B) FIIGIEN
(C) SMEATS
(D) SRR |
148. SRR 16 o1fde @ Sofmre o za1
(A) 12
(B) CFIETE
(C) CoNfow
(D) |
149.%&@@%@&%@%@?
(A) o
(B) AI=cIeZa
(C) ey
(D) ¥ |

150. Reenfaefoe oma @ wmql e
RRIGER- IR e

(A) @EEbe
(B) WIEGRefRgaI
(C) emfer afe

(D) SRS |
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146.

147.

148.

149.

150.

When repulsion occurs between two
substances then those two
substances are

(A) both magnets
(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is
magnetic substance.

The electrode which is connected to
the positive pole of the battery is
called

(A) cathode

(B) cation

(C) anode

(D) anion.

Casparian strip is made up of
(A) Chitin

(B) Cellulose

(C) Pectin

(D) Suberin.

Which of the following is not a green
plant ?

(A) Lotus
(B) Spirogyra
(C) Agaricus

(D) Fern.

In an eukaryotic cell, the organelle
responsible for aerobic respiration is

(A) Chloroplastid
(B) Mitochondria
(C) Golgi body

(D) Lysosome.

[P.T.O.
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et - 111 (b)
et fawt

Section - III (b)
SOCIAL STUDIES
@3 ferns &% 60 T o™ =iz | mﬁmﬁaiﬁwﬁmw@wwm@—amm |

There are 60 questions in all in this Section. The candidates who have selected this sub_]cct
must answer all the questions.

sffadia sifaee sifen w1 91. Effect of revolution of earth is
(A) O TS (A) change of seasons :
(B) frafa B (B) occurrence of days and nights
(C) occurrence of flood
i W (D) occurrence of earthquake.
m i 92. The first humans came from
92. YN YHEE WIRER X ........... WY | (B) “Africa
(A)  fE (B) Asia
(B) «@ffm (C) North America
(C) e (D) none of these.
93. The Tropic of Cancer passes through
(D) VLR ¥ |

(A) Krishnanagar

03. FGEI @ @ Wt @ coreg i ==

(B) Bankura
() p (B) gV (C) Birbhum
(C) g (D) CIWER 7N | (D) none of these.
04, fawer (v i sifewren o 2@ 94. The Himalayas belong to the category
. f :
(A) ©TE 2 FS i _
(A) Fold Mountains
(B) T oS .
(B) Block Mountains
(©) il (C) Volcanic Mountains
(D) wFE =S | ' (D) Residual Mountains.

577432 |
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95. Y APER F51 ey : 95. Project Tiger was started in
(A) 1972AD. (B) 1973 AD.
(C) 1975A.D. (D) none of these.

(A) 593 (B) S»q9 e

(C) s»ae Qs (D) CFABR 77 |

96. Atmospheric pressure is measured

96. YT vINIT TF o7 by
A) TG B) R - (A) Bérometer
(B) Thermometer
(C) =Eeafpr (D) smRTHfGE | (C) Hygrometer
97. ey wwer IR 2o (D) Anemometer.
97. Rainfall of equatorial region is
A)  TETIRCHS B) gfare :
i Soilh (A) relief
(C) ifasem (D) @f% &% | (B) frontal
' C tional
98. ifeR fefow A7 / ARG 2o () convestion
(D) drizzle.
(4) i (B) et 98. Longest river in the world is
(C) s (D) =@ | (A) Mississippi
(B) Nile
99. WREfb %o
(C) Ganga .
(A) (D) Brahmaputra.
(B) Eb& @al 99. Great circle means
' (A) Equator
C) oI@If® caa
0 j (B) Tropic of Cancer
(D) F @91 | (C) Tropic of Capricorn
100. %41 8- T 20 e (D) Pole.
(A) e e 100. Dadra and Nagar Haveli is a
(B) arey (A)  Union Territory
©) (B) State
(C) District
(D) CBBIE 57 |

(D) none of these.

577432 | [ P.T.O.



70

101. Free India Centre ¥*f¢ R 101. The Free India Centre was set up in

(A) e

(A) Berlin
(B): ASH (B) London
| (© cfeere (C) Tokyo
(D) (™ | (D) Rome.
102. Indian Independence League H°F 102. The Indian Independence League was
FREEH - - set up by
(A) TR T (A) Rashbehari Basu
(B) Torav¥ ] (B) Subhas Chandra Bose
(C) B (IR e (C) Captain Mohan Singh
(D) €A @FC T | (D) none of them.
103. Direct Action-&3 1 = 103. Direct Action was initiated in
(A) o™ ' (A) Galcutta
(B) QIS | (B) Bombay
(C) TCer (C) Madras
(D) CPFBR FW | (D) none of these.
104. C.R. Formula-¥ &% (* 104. C.R. Formula was forwarded by
() beE AGICNATEIAT | (A) Chakravarthi Rajagopalachari
(B) fowe wm : ‘ (B) Chittaranjan Das
(C) 3w I | (C) Rabindranath Tagore
(D) €TE T T | | (D) none of them.

577432 6001
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105. "N GRG0 T ZET 105. Amar Sonar Bangla was composed by
(A) 5T AN (A) Chakravarthi Rajagopalachari
(B) foezes wm (B) Chittaranjan Das
(C) FAwNY o1 (C) Rabindranath Tagore
(D) ¢t S A | (D) none of them.
106. CRT IR 2 1% Berer 106. The last king of the Maurya Dynasty
was
(A) J=Ru¥
(A) Brihadratha
(B) TS
(B) Kalashoka
(C) Twflw
(C) Udayin

(D) 9™ @ 7 |
(D) None of them.
107. 19 aren fermefy (iifea ey sifafee »
107. Who was called Lichchhavi dauhitra ?
(A) oo RS
(A) Chandragupta I

(B) TS ruee Rewfe
(B) Chandragupta II Vikramaditya

(C) el
(C) Samudragupta

(D) MR @S w7 |
(D) None of them.

108. i A1 *ifafow v e o zem
108. Sakari was the title earned by

(A) ST FHeS
(A) Chandragupta I

B 3
(B) fadn swey R (B) Chandragupta II Vikramaditya

(€) Tred (C) Samudragupta

(D) &om S 7 | . (D) None of them.

577432 [6001] [P.T.O.




- 109. S3EE 2% I FEH

Aa) IRFMS
(B) CMefio@ ez
(C) AFwe@ s

(D) TR (FC 9 |
110. &S *pr oRfETs FE=

(A) FHeY (T
(B) Y=
(C) fasx AereE

(D) ™R (TS 7 |
111. e &7 SE@=Tel s ?
(A) aF X IS
(B) T
) Bz
(D) S |
112. IFECH A

&

(A) &
(B) IF et
(C) == T4
(D) TG A |
113, #Remy Sfew sres IW
- (A) FReTeE wifbte
(B) W“iﬁm
(C) siewe Tfbre
(D) IEAGIR FF |
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109. The Aihole Prasasti was composed by

110.

(A) Ravikirti

(B) Gautamiputra Satakarni
(C) Vasisthaputra Pulamayi
(D) None of them.
Pulakeshin II defeated

(A) Chandragupta Maurya
(B) Harshavardhan

(C) Nagabhatta II

(D) None of them.

111. Jaldapara is famous for

112.

113,

(A) one horned Rhinoceros

(B) Tiger

(C) Lion

(D) Elephant.

Cause of air pollution is

(A) smoke

(B) cleaning utensils

(C) bathing

(D) wuse of fertilizer.
Mangrove forest is found in
(A) Saline soil

(B) Black soil

(C) Podzol

(D) None of these.



114. voo b S g ze1
(@) e (B) ey
(C) *RE (D) oK |
115. Gfeeo oo wrpe 5o
(A) ST
(B) Scgferan
(C) wwer snfa
(D) &l |
116. IRAEF SFEN 250
(A) TR
(B) fwal
©) e |
(D) GBI 7 |

73

114. Landform which is 600 metres high,

115.

- 116.

117. 9069 2™ @) ooy SeifRe

FAMRE 2

(A) wRER
(B) wR
(C) &=

(D) ™A T 7 |

118. SITHI-GI-43 ST (P SIS IEN ?

A) T
(B) S&RING
(IC) ANGATY
(D) CBIZ 7T |

577432
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118.

is

(A)
(B)
(©)
(D)

Plateau
Plain
Hill

Mountain.

Earthquake prone region is

(A)
(B)
(€)
(D)

Japan
Australia
South Africa

Germany.

Babur was born in

(A)
(B)
(©)
(D)

Fergana
Delhi
Ajmer

none of these.

Captain Hawkins visited the court of

(A)

(B)
©)
(D)

Jahangir
Akbar
Shahjahan

None of them.

Vasco-da-Gama came to India and

landed at

(A)
(B)
(C)
(D)

Khozikode
Gujarat
Patna

none of these.

[P.T.O.



119. TEIRIET TINE SIlF 2

(A) >asa A

(B) »axo ﬁ’r:_
(C) sawo .@:'
(D) Saso A3 |

120. f@orw sl =mE o 27

(A) Sudo A
(B) svis e
(C) svse ;s
(D) (FGIR FF |

121. 2% Serelk ANANES Forelfo z&

(A) Wﬂw
(B) Frdiw stere

(C) M= Forel

(D) (P=HIR 8% .|
122, I&RF e

A) =fF

(B) wmfw

(C) (A) 93t (B) ¥oF

(D) C(SHBR 7 |
123, ffEpre e

(A) @I

(B) cﬁzfma%

(C) == I

(D) @HBE FH |

577432
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119,

Farrukhsiyar’s firman was issued in

(A) 1717 A.D.
(B) 1720 A.D.
(C) 1730 A.D.
(D) 1740 A.D.

120. The Second Charter Act was passed

121.

122.

123.

in

(A) 1813 A.D.
(B) 1814 A.D.
(C) 1815A.D.

(D) none of these.

The Harappan Civilization was a

contemporary of

(A) Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civi_h'zation

(D) None of these.
Yajnaﬁalka was a

(A) Saint (Rishi)

(B) Philosopher

(C) Both (A) and (B)

(D) None of these.
Bimbisara belonged to the-

(A) Gupta Dynasty

" (B) Maurya Dynasty

(C) Haryanka Dynasty
(D) None of these.
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124, SIETFRIST VIS AT T 124. Alexander invaded India during the
(A) bUSY N *PHPIE reign of
(B) 4SHCHE *TFBIE (A) Chandragupta Maurya

(C) SN =PI (B) | Dhanananda

(C) Agrammes

(D) FGIE 7F |

(D). None of these.
125. et (Rew) 3a 23
125. The Battle of Jhelum was fought

(A) F @R ACTISISED W&

between
(B) SCT® @R AFTPETSIE T - (A) Porus and Alexander
(C) R TR @ AMEFEISIER V&S (B) Ashoka and Alexander
(D) ™ (G | : (C) Bindusara and Alexander
126. BOGEH-Me 11 ACHIIE SHAS GEHBER (D) None of them.
o 2w 126. Hiuen-tsang visited India during the
(A) FHes G . reign of
B) L (A) Chandrggupta Maurya .
: . (B) Harshavardhan
(C) s wores

(C) Nagabhatta II
(D) «TE G 7 |
(D) None of them.

127, eH R a@em

127. Suleiman was a/an

(A) IR e (A) - Arab Traveller
(B) AR G (B) French Traveller
(C) o= oo (C) Chinese Traveller
(D) COR 7F | (D) None of these.

577432 ‘ [ P.T.O.



128.

129,

136

Tz (TR *RfeTe PEiREr
(A) TS HIRACE -

(B) &S sEiie

(C) TRE=

(D) nﬁmw@aﬂl
‘3@’ I 2@
(A) g
(B) TN ST
(C) @ faerd
(D) CPHGIR Y |

e’ (3 qifeR srefe i -2
L B S

(B) ar&il
(C)

(D) CFWBIR 77 |

131. T3fmm @ q .

132.

(A) e

(B) =M

(C). erafw

(D) CFHGIR A7 |

Colb SRR e A 23
(A-) syoo e

(B) svos ;s

(C) Svox s
(D) Svowo |
577432
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128.

129.

130.

131.

132.

Muhammad Ghori defeated
(A) Prithviraj Chauhan
(B) Pulakeshin II

(C) Harshavardhan

(D) None of them.

Igta was a system of

(A) Land grants

(B) Religious endowment
(C) Loan

(D) None of these.
Khudkasht was a category of
(A) peasants

(B) ijngs

(C) nobles

(D) none of these.
William Carey was a
(A) Missionary

(B) _Poet' .

(C) Linguist

(D) none of these.
Fort William College was established
in

(A) 1800 A.D.

(B) 1801 A.D.

(C) 1802 A.D.

(D) 1803 A.D.



i §

133. 791 ICR (97 MefReEm 133. The Young Bengal was led by

(A) Afa fefeam fRwfee (A) Henry Vivian Derozio
- (B) (. FHRTRA JHIG _ (B) Rev. Krishnamohan Banerjea
(C) o fareief (C) James Prinsep

(D) @R (T 7 | (D) none of them.

134. SGrIeH IS fReew 134. Womesh Chandra Bonnerjee was a
(A) TR ~ (A) Moderate
(B) b (B) Extremist
(C) (A) @3¢ (B) TenR (C) Both (A) and (B)
(D) (PHBR ¥ | _ ! (D) none of these.
135. A& (PR AFRRE NG O 135. Gandhiji called for the establishment
frcafee 2 of
(A)  STHETET (A) Ramrajya
(B) ereraren (B) Ganarajya
(C) =«ren

(C) Swarajya

(D) (A) @3 (C) T&F | (D) both (A) and (C).

136. 1 f 2eeT 136. Frontier Gandhi was

(A) N SIHET PR A (A) Khan Abdul Gaffar Khan

(B) W SIafeT G A1 (B) Khan Abdul Wali Khan
(C) e A= _ (C) Shaista Khan
(D) E™E (T 7 | (D) none of them.

577432 [ P.T.O.
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V e (¥l AW

@) R Swerfere

(B) ra waeifore
(C) mx Feeifors
(D) fEwRRs Swefere |

138. w2ifiga-aa =G z=1

139.

(A) W6
(B) 3¢ forres
(C) ¢ T
(D) O CTTHHT |

o{fad SR (@A oSy E wAwA
(A) LT

(B) A&

(C) e

(D) COF™ |

140, SCAEHETR SwiRde 26

(A) IPD (B)
(C) i

(TR

(D) G |

141, SR0SA ANEe ANES AT 2o

(A) > FDwTE T
(B) * s© AfbwreT q12e
(C) e BT e

(D) C(PWOIR AF |

577432

78

18

138.

139.

140.

Gorge is formed in
(A) upper course of a river

(B) middle course of a river

(C) lower course of a river

(D) mountain stage of a glacier.
Date of spring equinox is

(A) 21st March

(B) 22nd December

(C) 21stJune

(D) 23rd September.

Heaviest rainfall in the world

received by

(A) Bangladesh
(B) Cherrapunji
(C) Shillong

(D) Mousinram.

Example ()‘f Igneous Rock is
sandstone

(A) basalt (B)

(C) marble (D) slate.

141. The maritime boundary of India is

(A) 12 nautical miles -
(B) 13 nautical miles
(C) 15 nautical miles

(D) none of these.

is
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© 142, TG ARG BT 142, Biack soil is suitable for

() 19T b1 =) (A) cotton cultivation

(B) A b1 ey - (B) rice cultivation

(C) T BI &=y (C) wheat cultivation
(D) ¥ BIAR &Y |
143. SR 27 @3
(A) SHITAET A8

(B) SAw @

(D) sugarcane cultivation.
143. India is a
(A) Developing couﬁtry

(B) Developed country
(C) RBE I Tae 18

(D) CPWBE 7T |
144, TZ1CH QFe Q9 Te

(C) Least Developed country
(D) none of these.
144. Result of greenhouse effect is

(A) O (9IS

(A) inversion of temperature

(B) ey Tmrm (B) global warming
(C) Pt g (C) industrial pollution
(D) <0 |

(D) flood.

145. Temperature is measured by

(A) : (A) thermometer
(B} e (B) barometer
(C) smRwnfGE

(C) anemometer
(D) Friemam | .

(D) seismograph.

146. ... W9 OO A | 16 B E St . -

g i o (A) Brahmaputra
(B) - (B) Ganga
(C) T (C) Jamuna
(D) %= | (D) ' Krishna.

577432 6001 {P.T.O0,
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147, F0ET (I3 BRI A 147. Royal Bengal Tigers are found in

(A) I (A) Sundarban
(B) ~if*swqib #i4® (B) Western Ghats
(C) TwEry st (C) Himalayas
(D) SIS WAL | (D) Garumara forest.
'148. AR Tweifex ST T 148. Main work of a river in its upper
course is
(A) AL
(A) erosion
(B) ST
(B) deposition
(C) <=F ‘

(C) transportation
(D) =& 415 (oAl A |

(D) formation of meander.

149, (IFTE T ...............- a9 ANFAEAPO G |
149. Polder is the reclaimed lands of

(A) CHIFETTEH

(A) Netherlands
(B) @il

(B) Germany
C) wiEH
© (C) Austria
D) ZEoeG |
() (D) Scotland.

e B 150. Rich deposits of minerals are found in

(A) CﬂW’T‘?ﬁ Wﬁ o (A) Chota Nagpur plateau

(B) TR BT (B) Sundarban region

(C) ~iFower W qRE | : (C) Plains of West Bengal

(D) “A6NACH ofrfer ST | (D) Mountain region of West Bengal.
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YAQ! SIS By
SPACE FOR ROUGH WORK
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YAY] SIS T
SPACE FOR ROUGH WORK
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fSC® / INSTRUCTIONS
( FFAZHICA AT @ A T / Read carefully and comply )
@%99 / IMPORTANT

@ dla ! A1 FaTa N AW Gra pehn #16 (ARwAa wenre) Bfefewebare oy o
At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
ortion) to the Invigilator, .

ULCo 8 T O Wim — e, B, B, o, efewm, sheed, ere s ¥ et o 30 © e omy) ofmwdice O

FEHSKE TP 2N e 2pid 30 B et was o @b wrn falhy o aeer 30 b et b0 1 erera Teg fioe 2

In Section-ilI, there are 8 languages — Bengali, Enghsh, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions, The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application form.

el 7 faeiel e — [@ei 1i(a) - 519 @ fae a3t et nb) - sTGTawT | eiere e 60 B ept g | SIS SEvE-
Sfg AN (P GOl RENER 53T F9E |

Se?ltinp—illﬁ {i)s dividtgd int}r:hrwo szc_taio?slr Scctiﬁm 1i{a) - Mathcle_r:'lhatics & Science ar;lq Sicticxu I!ll_{bl - Solg_:ial Studies. Each section
1s_having 60 questions, The candidate has to choose any gne of the sections as per his/her ication Form.

sl smm%ﬁounmmﬁﬁﬁmmﬂ%ﬁmm%m% |5

The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

5

12

13.

14.

frdreafa mm@w{-l 93¢ OMR DEEHIET @FHHIUI 1 (TP 8, 138 14 992 o g ST 1, 3 938 4-0 oG oUafe o I | A Ao 2
@WT 9 409 @3t FEPY DAY AP FUoA TR FA0G WTEA 2 OIRTT OMR SRR Fi $9r AN @fba g Wiofre e Sofw 36w
Read all the instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and S1. Nos. 1, 3 & 4
in the Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for th
consequences arising during scanning of your OMR Answer Sheet. g
o] 1 i@ #1e OMR e A2 iy )

OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

oPo{fIeTR GG 84 o1 @8 150 b o T | obroffieRl YR et oy o ofid s e eproyfefb gercen | o
a7y ePaoffeTH 150 fb o @8 BT 3 (U 80 WLy {1 ATy (e |

The Question Booklet comprises im{.}aga:s having 150 questions. After bezﬁ% instructed to open the Booklet then only the candidate will
open the Question Booklet at the cated place. Check whether the Booklet contains 150 questions starting from No. 3 to 80.
waefe o sufedin eoeh «0d Pt Feiny sy gt Taraw o (eiive wifEe s 2 Al

All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers,

CoT ST (P SUOTS T2 AR, AIHIA KSNT ZCA 7 | (9P AW GAPENA (P AN I 7 A Rt @@z [ 1ia)
@Gqt [11(b) AL @ BSATSH AT 1A =T | (O SITH SRS SHTIG AT(e] ZLFTE AAME Forg 90 431 2 |

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination. Section-I and Section IlI{a) and III(b) are printed in Bengali and English versions. In case of
any factual discrepancy the English Version will revail. ;
T 4Gl T FACS X0 SIS O S o Fa0e 3 | ~Pifbee ereifiRel (e gt 11 (o wfSfae 1o (el X A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Boak{et. No additional paper shall rovided.

w5 (BT, ,mﬁ.mﬁmﬂmﬂ.m,%ﬁg@ﬂmwwmmﬁﬁwmmmmaﬁw
ol qE < dee SErEEee ST 90 el 91 2| :
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/ instrument etc. is not
allowed. Their use will result in disqualiﬁcation oF the candidate.

o g A AW $6E OMR TEgo@ (MeHl 2 |

OMR Answer Sheet will be provided separately along with the Question Booklet.

@) emofeel @3t OMR Seaera (e fofft epeffis e omR Twwertay Fffd A Rt oo sar | st frerd e e Mo
1wy | e s e amem vy ereffver e oreoif] (YPTR of@ “RHA SRR T6R T A (1 ooffIIa (I 2 W
D1 R/ T/ XY/ IR QoI | ﬁm@mmwﬁm.mmwcmﬁm@mmmm|
After ion Booklet and OMR Answer Sheet are issued to the candidate, the candidate must fill in all the entries in the Question Booklet and OMR
Answer Sheet. The Question Booklet is sealed by a reverse jacket, The candidate has to tear open the jacket at the indicated place in order to open the
Question Booklet. Alfter opening the Question klet the candidate should ensure that any page/question is not missln%‘f not printed / torn /[
:g;tled. In case you find any defect anywhere in the Question Booklet; immediately inform the Invigilator and get it replaced by him. I
SR @I 72, (TS, eroffve Pafammer at, cafél, v, eiew o, faSiy o, faam, oifmera oifty @3 o o

e OMR Te9oitad fAfi@ #1e o 9|
Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-1, Language-Il, selected
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.

007 T 4 ) W TEH A, B, C 43t D WG W Bize a1 W ool o vy M g @3t woma de b e i 2w ot
a0 | ORI Taal oF6 OMR TEIoa AP 3af o P 9 e w1 Biew 9w o) @eTia I 3 AW O R T
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkening the a propriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use black point pen only.

Ho® oS ; #f%® | CORRECT | §#1 *14f% : g7 | WRONG G& | WRONG G | WRONG ¥ | WRONG
COfrectmethcd: ®@®O00O Wrong method : E@@@ @'@@@ ©RO0 0 [ ¥oX Xo)

@ @ o a9 CRETTa I CBIF FEpEA 1 6oTed A1 |

Once a questign 1 swered, no correction is permitted.

OMR aﬁ%ﬁmwmﬁmum%m@%%ommwwﬁmﬁﬁmqmmm

A W W9 1 G Q@ Al GF G P WO H ok @AY IO | :

OMR Answer Sheet is designed for computer evaluation. [T you do not follow the instructions given above and shown in the OMR Answer

Sheet, it may make evaluation by computer difficult. Any resultant loss to-the candidate on the above account shall be of the candidate only.

afe 1 A1 TG A (I FRIHIAR SATE T LIOR SRS (% | A (T Ze o) oft off%eT T oMR TeIerE &9 om

TR 93¢ BT ER (N OR Wefib ey el crse o e

No candidate is allowed to leave the Examination Hall before the final bell. After oomg}etion of the examination the candidate should hand

%cr Ec ?lﬂ}tﬂﬁnswer Sheet along with the Question Booklet to the Invigilator and he/she will take back his/her portion of Admit Card
m the Invigilator.

577432



